

# CONVERGENCE OF NEWTON'S METHOD FOR SOLVING A NONLINEAR MATRIX EQUATION

JIE MENG, HYUN-JUNG LEE, AND HYUN-MIN KIM

ABSTRACT. We consider the nonlinear matrix equation  $X^p + AX^qB + CXD + E = 0$ , where p and q are positive integers, A, B and E are  $n \times n$  nonnegative matrices, C and D are arbitrary  $n \times n$  real matrices. A sufficient condition for the existence of the elementwise minimal nonnegative solution is derived. The monotone convergence of Newton's method for solving the equation is considered. Several numerical examples to show the efficiency of the proposed Newton's method are presented.

## 1. Introduction

We consider the nonlinear matrix equation

(1.1) 
$$X^p + AX^q B + CXD + E = 0,$$

where p and q are positive integers, A, B and E are  $n \times n$  nonnegative matrices, C and D are arbitrary  $n \times n$  real matrices.

Nonlinear matrix equations play an important role in control theory, ladder networks, dynamic programming, stochastic filtering, and many other areas [1, 3, 9, 11]. The positive definite solutions of nonlinear matrix equation (1.1) has been widely studied, see [6, 15, 16, 17, 22, 23] and the references therein. Many methods have been proposed for the numerical solutions, such as invariant subspace methods [21], fixed-point iteration [15], inversion-free variant iteration [24, 27], and Newton's method [8, 9, 12]. In this paper, we consider the positive definite solution. Newton's method is widely used for obtaining the positive definite solution. Newton's method is widely used for obtaining the positive (nonnegative) solution of a matrix equation or matrix polynomials. Davis [4, 5] considered Newton's method for solving a quadratic matrix equation. Higham

©2016 The Youngnam Mathematical Society (pISSN 1226-6973, eISSN 2287-2833)

Received November 5, 2015; Accepted January 2, 2016.

<sup>2010</sup> Mathematics Subject Classification. 15A24, 65F10, 65H10.

 $Key\ words\ and\ phrases.$  Matrix equation, Elementwise nonnegative solution, Newton's method, M-matrix .

This work was supported by a 2-Year Research Grant of Pusan National University.

Some results of Section 3 and Section 4 are based on M.Sc. thesis of Hyun-Jung Lee "The Convergence of Newton's Method for a Nonlinear matrix Equation  $X^p - AXB + C = 0$ ", February 2015.

and Kim [13, 14] incorporated the exact line searches into Newton's method and improved the global convergence. In [26], Seo and Kim considered the convergence of pure and relaxed Newton's methods. More applications of Newton's method to matrix polynomials with degree n > 2 is shown in [2, 19, 20]. Guo and Laub [11] and Kim [18] showed that the elementwise minimal positive solutions can be found by Newton's method. As far as we know, the nonnegative solutions of the nonlinear matrix equation (1.1) haven't been studied yet. In this paper, we show the existence of the elementwise minimal nonnegative solution by applying Newton's method.

This paper is organized as follows. In Section 2, we derive a sufficient condition for the existence of the elementwise minimal nonnegative solution and consider the monotone convergence of Newton's method for solving equation (1.1). In Section 3, we apply Newton's method to a special case of nonlinear matrix equation (1.1). Finally, we present several numerical examples to show the efficiency of the proposed Newton's method.

Some relevant definitions and notations throughout this paper are as follows. A real square matrix A is called a Z-matrix if all its off-diagonal elements are nonpositive. It is clear that any Z-matrix A can be written as sI-B with  $B \ge 0$ . A Z-matrix A is called an M-matrix if  $s \ge \rho(B)$ , where  $\rho(\cdot)$  is the spectral radius; it is a singular M-matrix if  $s = \rho(B)$  and a nonsingular M-matrix if  $s > \rho(B)$ .  $\mathbb{R}^{n \times n}$  stands for the set of  $n \times n$  matrices with elements on field  $\mathbb{R}$ .  $I_n$ means  $n \times n$  identity matrix. For a matrix  $A = (a_1, a_2, \cdots a_n) = (a_{ij}) \in \mathbb{R}^{n \times n}$ and a matrix B, vec(A) is a vector defined by vec $(A) = (a_1^T, \cdots, a_n^T)^T$ ;  $A \otimes B =$  $(a_{ij}B)$  is a Kronecker product.  $A \ge B(A > B)$  means  $a_{ij} \ge b_{ij}$   $(a_{ij} > b_{ij})$ .

## 2. Convergence of Newton's method

In this section, we show the monotone convergence of Newton's method and derive a sufficient condition for the existence of the elementwise minimal nonnegative solution of equation (1.1). To this end, we need the following well-known results.

**Definition 1.** ([18]) Let F be a matrix function from  $\mathbb{R}^{m \times n}$  to  $\mathbb{R}^{m \times n}$ . A positive (nonnegative) solution  $S_1$  of the matrix equation F(X) = 0 is an elementwise minimal positive (nonnegative) solution and a positive (nonnegative) solution  $S_2$  of F(X) = 0 is an elementwise maximal positive (nonnegative) solution if, for any positive (nonnegative) solution S of F(X) = 0,

$$S_1 \le S \le S_2.$$

**Theorem 2.1.** ([25], Theorem 2.1.) For a Z-matrix A, the following are equivalent:

- 1) A is a nonsingular M-matrix.
- 2)  $A^{-1}$  is nonnegative.
- 3) Av > 0 for some vector v > 0.
- 4) All eigenvalues of A have positive real parts.

**Theorem 2.2.** ([10], Lemma 2.2.) Let  $A \in \mathbb{R}^{n \times n}$  be a nonsingular M-matrix, then

- 1)  $Av \ge 0$  implies  $v \ge 0$ .
- 2) If B is a Z-matrix and  $B \ge A$ , then B is also a nonsingular M-matrix.

Lemma 2.3. ([26], Lemma 2.3.) The following statements are true:

1) If  $Y > X \ge 0$ , then

$$Y^{m} + (m-1)X^{m} - \sum_{k=1}^{m} X^{m-k}YX^{k-1} > 0, \quad m \in \{2, 3, 4, \ldots\}.$$

2) If  $Y \ge X \ge 0$ , then

$$Y^{m} + (m-1)X^{m} - \sum_{k=1}^{m} X^{m-k}YX^{k-1} \ge 0, \quad m \in \mathbb{N}.$$

Let  $F(X) = X^p + AX^qB + CXD + E$ , we first derive the Fréchet derivative of F(X).

$$F(X+H) = (X+H)^{p} + A(X+H)^{q}B + C(X+H)D + E$$
$$= F(X) + \sum_{i=1}^{p} X^{p-i}HX^{i-1} + \sum_{j=1}^{q} AX^{q-j}HX^{j-1}B + CHD + O(H^{2})$$

The Fréchet derivative of F(X) at X in the direction H is given by

(1) 
$$D_X(H) = \sum_{i=1}^p X^{p-i} H X^{i-1} + \sum_{j=1}^q A X^{q-j} H X^{j-1} B + C H D.$$

*Remark* 1. We call that the linear operator  $D_X$  is regular (see Theorem A3 in [19] and Lemma 3.1 in [14]), if  $||D_X|| > 0$  where

$$||D_X|| = \inf_{||H||=1} ||D_X(H)||,$$

which means  $D_X$  is invertible [19].

Let  $X_0 = 0$ , Newton's method for solving equation (1.1) is given as following:

(2) 
$$\begin{cases} D_{X_k}(H_k) = -F(X_k), \\ X_{k+1} = X_k + H_k, \end{cases}$$

where  $D_{X_k}(H_k) = \sum_{i=1}^p X_k^{p-i} H_k X_k^{i-1} + \sum_{j=1}^q A X_k^{q-j} H_k X_k^{j-1} B + C H_k D$  is the Fréchet derivative in (1). Suppose that  $D_{X_k}$  is regular, then iteration (2) can be written as

$$X_{k+1} = X_k + D_{X_k}^{-1}(-F(X_k)), \quad k = 0, 1, \dots$$

By the vec function and the Kronecker product [19, 26], we can get

(3) 
$$\mathcal{M}_{X_k} \operatorname{vec}(H_k) = \operatorname{vec}(-F(X_k)),$$

where

$$\mathcal{M}_{X_k} = \Big[\sum_{i=1}^p (X_k^{i-1})^T \otimes X_k^{p-i} + \sum_{j=1}^q (B^T \otimes A) \Big( (X_k^{j-1})^T \otimes X_k^{q-j} \Big) + D^T \otimes C \Big].$$

Then from the  $n^2 \times n^2$  linear system (3), we can get  $H_k$  and consequently  $X_{k+1}$ .

**Lemma 2.4.** Suppose  $A \ge 0, B \ge 0$ , and if there are positive matrices X and Y such that  $Y > X \ge 0$ ,  $F(X) \ge 0$  and  $F(Y) \le 0$ , then  $-\mathcal{M}_X$  is a nonsingular *M*-matrix.

*Proof.* Since  $F(X) \ge 0$  and  $F(Y) \le 0$ , we have

$$-CXD \le X^p + AX^qB + E,$$

and

$$CYD + E \le -Y^p - AY^qB.$$

Then applying Lemma 2.4, we can get

$$\begin{split} D_X(Y-X) &= \sum_{i=1}^p X^{p-i}(Y-X)X^{i-1} + \sum_{j=1}^q AX^{q-j}(Y-X)X^{j-1}B + C(Y-X)D \\ &= \sum_{i=1}^p X^{p-i}YX^{i-1} - pX^p + \sum_{j=1}^q AX^{q-j}YX^{j-1}B - qAX^qB + C(Y-X)D \\ &\leq \sum_{i=1}^p X^{p-i}YX^{i-1} - (p-1)X^p + CYD + E \\ &+ \sum_{j=1}^q AX^{q-j}YX^{j-1}B - (q-1)AX^qB \\ &\leq \Big(\sum_{i=1}^p X^{p-i}YX^{i-1} - (p-1)X^p - Y^p\Big) \\ &+ A\Big(\sum_{j=1}^q X^{q-j}YX^{j-1} - (q-1)X^q - Y^q\Big)B \\ &< 0. \end{split}$$

Since Y > X, by Theorem 2.2., we can get  $-\mathcal{M}_X$  is a nonsingular *M*-matrix.  $\Box$ 

**Theorem 2.5.** Suppose  $p \ge 2$ ,  $q \ge 2$ ,  $A \ge 0$ ,  $B \ge 0$ ,  $E \ge 0$ , and  $-D^T \otimes C$  is a nonsingular M-matrix. If there is a positive matrix Y such that  $F(Y) \le 0$ , then equation (1.1) has an elementwise minimal nonnegative solution S and  $S \leq Y$ . And the sequence  $\{X_m\}$  from the Newton's iteration (2) with  $X_0 = 0$  is well-defined and  $\lim_{m\to\infty} X_m = S$ . Furthermore,

$$-\mathcal{M}_{X_m} = -\bigg[\sum_{i=1}^p (X_m^{i-1})^T \otimes X_m^{p-i} + \sum_{j=1}^q (B^T \otimes A) \Big( (X_m^{j-1})^T \otimes X_m^{q-j} \Big) + D^T \otimes C \bigg]$$

is a nonsingular M-matrix for each m = 0, 1, ...

Proof. We will proof the following statements

$$(4) X_m \le X_{m+1},$$

$$(5) X_m < Y,$$

(6) 
$$F(X_m) \ge 0.$$

and

(7) 
$$-\mathcal{M}_{X_m}$$
 is a nonsingular  $M$  – matrix

are true for  $m = 0, 1, \ldots$ 

Trivially, statements (5)-(7) are true for m = 0. Since  $E \ge 0$  and  $-D^T \otimes C$  is a nonsingular *M*-matrix, we can get that

$$\operatorname{vec}(X_1) = (-D^T \otimes C)^{-1} \operatorname{vec}(E) \ge 0.$$

Hence,  $X_0 \leq X_1$ . Suppose that statements (4)-(7) are true for m = k, it is sufficient to show that they are true for m = k + 1. Note that  $D_{X_k}(H_k) = -F(X_k)$ , it yields

(8) 
$$\sum_{i=1}^{p} X_{k}^{p-i} X_{k+1} X_{k}^{i-1} + \sum_{j=1}^{q} A X_{k}^{q-j} X_{k+1} X_{k}^{j-1} B + C X_{k+1} D$$
$$= (p-1) X_{k}^{p} + (q-1) A X_{k}^{q} B - E.$$

Then from (8) and Lemma 2.4, we have

$$\begin{split} D_{X_k}(Y - X_{k+1}) \\ &= \sum_{i=1}^p X_k^{p-i}(Y - X_{k+1})X_k^{i-1} + \sum_{j=1}^q AX_k^{q-j}(Y - X_{k+1})X_k^{j-1}B \\ &+ C(Y - X_{k+1})D \\ &= \sum_{i=1}^p X_k^{p-i}YX_k^{i-1} - \sum_{i=1}^p X_k^{p-i}X_{k+1}X_k^{i-1} + \sum_{j=1}^q AX_k^{q-j}YX_k^{j-1}B \\ &- \sum_{j=1}^q AX_k^{q-j}X_{k+1}X_k^{j-1}B + CYD - CX_{k+1}D \\ &= \sum_{i=1}^p X_k^{p-i}YX_k^{i-1} + CYD + \sum_{j=1}^q AX_k^{q-j}YX_k^{j-1}B - (p-1)X_k^p \\ &- (q-1)AX_k^qB + E \\ &\leq \sum_{i=1}^p X_k^{p-i}YX_k^{i-1} - Y^p - AY^qB + \sum_{j=1}^q AX_k^{q-j}YX_k^{j-1}B - (p-1)X_k^p \\ &- (q-1)AX_k^qB \\ &= \Big(\sum_{i=1}^p X_k^{p-i}YX_k^{i-1} - (p-1)X_k^p\Big) - Y^p \\ &+ A\Big(\sum_{j=1}^q X_k^{q-j}YX_k^{j-1} - (q-1)X_k^q - Y^q\Big)B \\ &< 0. \end{split}$$

It follows that  $-\mathcal{M}_{X_k} \operatorname{vec}(Y - X_{k+1}) > 0$ . Since  $-\mathcal{M}_{X_k}$  is a nonsingular *M*-matrix, by Theorem 2.3, we can get  $X_{k+1} < Y$ .

Now we show that the statements (4), (6) and (7) are true for m = k + 1. For convenience, we introduce a function  $\Phi : \mathbb{N}^+ \times \mathbb{N}^+ \times \mathbb{C}^{n \times n} \times \mathbb{C}^{n \times n} \to \mathbb{C}^{n \times n}$  defined in [26]:

$$\begin{cases} \Phi(i,0)(X,Y) = X^{i}, \quad \Phi(0,j)(X,Y) = Y^{j}, \quad i,j \in \{0\} \cup \mathbb{N}^{+}, \\ \Phi(i,j)(X,Y) = X\Phi(i-1,j)(X,Y) + Y\Phi(i,j-1)(X,Y), \quad i,j \in \mathbb{N}^{+}. \end{cases}$$

Then

$$F(X_{k+1}) = (X_k + H_k)^p + A(X_k + H_k)^q B + C(X_k + H_k)D + E$$
  

$$= \sum_{i=0}^p \Phi(p - i, i)(X_k, H_k) + \sum_{j=0}^q A\Phi(q - j, j)(X_k, H_k)B$$
  

$$+ CX_k D + E + CH_k D$$
  

$$= F(X_k) + \Phi(p - 1, 1)(X_k, H_k) + A\Phi(q - 1, 1)(X_k, H_k)B + CH_k D$$
  

$$+ \sum_{i=2}^p \Phi(p - i, i)(X_k, H_k) + \sum_{j=2}^q A\Phi(q - j, j)(X_k, H_k)B$$
  

$$= F(X_k) + D_{X_k}(H_k) + \sum_{i=2}^p \Phi(p - i, i)(X_k, H_k)$$
  

$$+ \sum_{j=2}^q A\Phi(q - j, j)(X_k, H_k)B.$$

Since  $\Phi$  is regarded as the sum of all the possible products of  $X_k$  and  $H_k$ , and  $X_k \ge 0, H_k \ge 0$ , then

$$\sum_{i=2}^{p} \Phi(p-i,i)(X_k, H_k) + \sum_{j=2}^{q} A\Phi(q-j,j)(X_k, H_k)B \ge 0,$$

it yields

$$F(X_{k+1}) \ge F(X_k) + D_{X_k}(H_k)$$
  
=  $F(X_k) + D_{X_k}(D_{X_k}^{-1}(-F(X_k)))$   
= 0.

So (6) is true for m = k + 1. Then by Lemma 2.6, we can get statement (7) is also true. From  $D_{X_{k+1}}(X_{k+2} - X_{k+1}) = -F(X_k)$  it follows

$$\operatorname{vec}(X_{k+2} - X_{k+1}) = -\mathcal{M}_{X_{k+1}}^{-1}\operatorname{vec}(F(X_{k+1})) \ge 0,$$

which implies  $X_{k+2} \ge X_{k+1}$ .

Since the sequence  $\{X_m\}$  is monotone increasing and bounded above, it is convergent. Let  $\lim_{m\to\infty} X_m = S$ , then S satisfies equation (1.1). Since for any positive solution  $Y, S \leq Y$ . Therefore, S is the elementwise minimal nonnegative solution.

**Corollary 2.6.** If p = 1 and  $q \ge 2$ ,  $A, B \ge 0$  ( $A \ne 0, B \ne 0$ ),  $E \ge 0$ , and  $-(I_{2n} + D^T \otimes C)$  is a nonsingular M-matrix. Suppose that there is a positive matrix Y such that  $F(Y) \le 0$ , then equation (1.1) has an elementwise minimal nonnegative solution S and  $S \le Y$ . And the sequence  $\{X_m\}$  from the Newton's

iteration (2) with  $X_0 = 0$  is well-defined and  $\lim_{m\to\infty} X_m = S$ . Furthermore,

$$-\mathcal{M}_{X_m} = -\Big[\sum_{i=1}^q (B^T \otimes A) \Big( (X_m^{i-1})^T \otimes X_m^{q-i} \Big) + I_{2n} + D^T \otimes C \Big]$$

is a nonsingular M-matrix for each m = 0, 1, ...

**Corollary 2.7.** If  $p \ge 2$  and q = 1,  $E \ge 0$ , and  $-(B^T \otimes A + D^T \otimes C)$  is a nonsingular M-matrix. Suppose that there is a positive matrix Y such that  $F(Y) \le 0$ , then equation (1.1) has an elementwise minimal nonnegative solution S and  $S \le Y$ . And the sequence  $\{X_m\}$  from the Newton's iteration (2) with  $X_0 = 0$  is well-defined and  $\lim_{m\to\infty} X_m = S$ . Furthermore,

$$-\mathcal{M}_{X_m} = -\left[\sum_{i=1}^{p} (X_m^{i-1})^T \otimes X_m^{p-i} + B^T \otimes A + D^T \otimes C\right]$$

is a nonsingular M-matrix for each m = 0, 1, ...

**Corollary 2.8.** If p = q = 1,  $E \ge 0$ , and  $-(I_{2n} + B^T \otimes A + D^T \otimes C)$  is a nonsingular M-matrix. Suppose that there is a positive matrix Y such that  $F(Y) \le 0$ , then equation (1.1) has an elementwise minimal nonnegative solution S and  $S \le Y$ . And the sequence  $\{X_m\}$  from the Newton's iteration (2) with  $X_0 = 0$  is well-defined and  $\lim_{m\to\infty} X_m = S$ .

### 3. A special Case

In this section, we consider two special nonlinear matrix equations

(9) 
$$X^p \pm CXD + E = 0,$$

where p is a positive integer,  $C, D \in \mathbb{R}^{n \times n}, E \ge 0$ .

Without loss of generality, we consider the matrix equation

(10) 
$$G(X) = X^p - CXD + E = 0.$$

Newton's method for solving equation (10) is

(11) 
$$\begin{cases} D'_{X_k}(H_k) = -G(X_k), \\ X_{k+1} = X_k + H_k, \end{cases}$$

where  $D'_{X_k}(H_k) = \sum_{i=1}^p X_k^{p-i} H_k X_k^{i-1} - CH_k D$  is the Fréchet derivative of G(X) at  $X_k$  in the direction  $H_k$ .

**Theorem 3.1.** Suppose  $p \geq 2$ ,  $E \geq 0$ , and  $D^T \otimes C$  is a nonsingular *M*-matrix. If there is a positive matrix Y such that  $G(Y) \leq 0$ , then equation (10) has an elementwise minimal nonnegative solution S and  $S \leq Y$ . And the sequence  $\{X_m\}$  from the Newton's iteration (11) with  $X_0 = 0$  is well-defined and  $\lim_{m\to\infty} X_m = S$ . Furthermore,

$$-\mathcal{M}'_{X_m} = -\left[\sum_{i=1}^{p} (X_m^{i-1})^T \otimes X_m^{p-i} - D^T \otimes C\right]$$

is a nonsingular M-matrix for each m = 0, 1, ...

*Proof.* The proof is similar with that of Theorem 2.7.

**Corollary 3.2.** If p = 1,  $E \ge 0$ ,  $-(I_{2n} + D^T \otimes C)$  is a nonsingular M-matrix, suppose that there is a positive matrix Y such that  $G(Y) \le 0$ , then equation (10) has an elementwise minimal nonnegative solution S and  $S \le Y$ . And the sequence  $\{X_m\}$  from the Newton's iteration (11) with  $X_0 = 0$  is well-defined and  $\lim_{m\to\infty} X_m = S$ .

#### 4. Numerical examples

In this section, we present three numerical examples to show the efficiency of the proposed Newton's method. Our experiments were done in MATLAB 7.10.0 with machine precision around  $10^{-16}$  and the iterations terminate if the relative residual  $\rho_1(X_k)$  and  $\rho_2(X_k)$  satisfy

$$\rho_1(X_k) = \frac{\|fl(X_k^p + AX_k^q B + CX_k D + E)\|_F}{\|X_k\|_F^p + \|A\|_F \|X_k\|_F^q \|B\| + \|C\|_F \|X_k\|_F \|D\|_F + \|E\|_F} \le n \times 10^{-16},$$

and

$$\rho_2(X_k) = \frac{\|fl(X_k^p - CX_kD + E)\|_F}{\|X_k\|_F^p + \|C\|_F \|X_k\|_F \|D\|_F + \|E\|_F} \le n \times 10^{-16}.$$

**Example 4.1.** Let p = 1, 2, 3, 4, q = 3, A = rand(3)/5, B = rand(3)/4, E = rand(3)/3, and

$$C = \begin{pmatrix} 2 & -1 & 0 \\ 0 & 2 & -1 \\ 0 & 0 & 2 \end{pmatrix}, D = \begin{pmatrix} -1 & 0 & 0 \\ 0 & -2 & 0 \\ 0 & 0 & -0.9 \end{pmatrix}.$$

We apply Newton's method (2) on equation (1.1). The results are shown in Figure 1.

From Figure 1, for p < q, p = q, p > q, we can see that the Newton's method converges to a positive solution of equation (1.1). And the bigger the p is, the smaller the number of iteration is.

Example 4.2. Let

$$C = \begin{pmatrix} 4 & -1 & 0 & 0 \\ -1 & 4 & -1 & 0 \\ 0 & -1 & 4 & -1 \\ 0 & 0 & -1 & 4 \end{pmatrix}, \ D = \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 2 & 0 & 0 \\ 0 & 0 & 3 & 0 \\ 0 & 0 & 0 & 4 \end{pmatrix},$$

E = eye(4) and p = 2, 3, 4, 6. We apply Newton's method (11) on equation (10), and the results are shown in Figure 2. It shows that for different p, the Newton's method (11) works well and when p becomes bigger, the number of iteration becomes smaller.

 $\square$ 



FIGURE 1. Convergence of Newton's method (2)

**Example 4.3.** Let p = q = 1, E = rand(2)/4,

$$A = \begin{pmatrix} 1 & -1 \\ -1 & 2 \end{pmatrix}, B = \begin{pmatrix} -1 & 0 \\ 0 & -2 \end{pmatrix}, C = \begin{pmatrix} -2 & 1 \\ 1 & -1 \end{pmatrix}, D = \begin{pmatrix} 2 & 0 \\ 0 & 1 \end{pmatrix}.$$
  
Then

Then

$$-(I_{2n} + B^T \otimes A + D^T \otimes C) = \begin{pmatrix} -4 & 3 & 0 & 0 \\ 3 & -3 & 0 & 0 \\ 0 & 0 & -3 & 3 \\ 0 & 0 & 3 & -4 \end{pmatrix}$$

is a nonsingular M-matrix. Applying Newton's method (2) with relative residual  $\rho_1(X_k) = 1.388 \times 10^{-16}$ , we can get the positive solution

$$S = \left(\begin{array}{cc} 0.1637 & 0.2896\\ 0.2179 & 0.2330 \end{array}\right).$$



FIGURE 2. Convergence of Newton's method (11)

#### References

- W.N. Anderson, G.D. Kleindorfer, P.R. Kleindorfer, M.B. Woodroofe, Consistent estimates of the parameters of a linear system, Ann. Math. Statist. 40 (1969) 2064-2075.
- [2] D.A. Bini, G. Latouche, B. Meini, Numerical methods for structured Markov chains, Oxford University Press, 2005.
- [3] Ph. Bougerol, Kalman filtering with random coefficients and contractions, SIAM J. Control Optim. 31 (1993) 942-959.
- [4] G.J. Davis, Numerical solution of a quadratic matrix equation, SIAM J. Sci. Statist. Comput. 2 (2) (1981) 164-175.
- [5] G.J. Davis, Algorithm 598: an algorithm to compute solvent of the matrix equation  $AX^2 + BX + C = 0$ , ACM Trans. Math. Software 9 (2) (1983) 341-345.
- [6] X. Duan, A. Liao, On the existence of Hermitian positive definite solutions of the matrix equation  $X^s + A^*X^{-t}A = Q$ , Linear Algebra Appl. 429 (2008) 673-687.
- [7] C.-H. Guo, Convergence rate of an iterative method for nonlinear matrix equations, SIAM J. Control Optim. 31 (1993) 942-959.

- [8] C.-H. Guo, Newton's method for the discrete algebraic Riccati equations when the closed loop matrix has eigenvalues on the unit circle, SIAM J. Matrix Anal. Appl. 20 (1999) 279-294.
- [9] C.-H. Guo, P. Lancaster, Iterative solution of two matrix equations, Math. Comp. 68 (1999) 1589-1603.
- [10] C.-H. Guo, N.J. Higham, Iterative solution of a nonsymmetric algebraic Riccati equation, SIAM J. Matrix Anal. Appl. 29 (2007) 396-412.
- [11] C.-H. Guo, A.J. Laub, On the iterative solution of a class of nonsymmetric algebraic Riccati equations, SIAM J. Matrix Anal. Appl. 67 (1998) 1089-1105.
- [12] G.A. Hewer, An iterative technique for the computation of the steady-state gains for the discrete optimal regular, IEEE Trans. Autom. Control 16 (1971) 382-384.
- [13] N.J. Higham, H.-Y. Kim, Numercial analysis of a quadratic matrix equation, IAM J. Numer. Anal. 20 (4) (2000) 499-519.
- [14] N.J. Higham, H.-Y. Kim, Solving a quadratic matrix equation by Newton's method with exact line searches, SIAM J. Matrix Anal. Appl. 23 (2001) 303-416.
- [15] Z. Jia, M. Zhao, M. Wang, S. Ling, Solvability theory and iteration method for one self-adjoint polynomial matrix equation, J. Appl. Math. 2014, Art. ID 681605, 7 pp.
- [16] Z. Jia, M. Wei, Solvability and sensitivity theory of polynomial matrix equation  $X^s + A^T X^t A = Q$ , Appl. Math. Comput. 209 (2009) 230-237.
- [17] C. Jung, H.-M. Kim, Y. Lim, On the solution of the nonlinear matrix equation  $X^n = f(X)$ , Linear Algebra Appl. 430 (2009) 2042-2052.
- [18] H.-M. Kim, Convergence of Newtion's method for solving a class of quadratic matrix equaitons, Honam Math. J. 30 (2) (2008) 399-409.
- [19] W. Kratz, E. Stickel, Numerical solution of matrix polynomial equations by Newton's method, IMA J. Numer. Anal. 7 (1987) 355-369.
- [20] G. Latouche, Newton's iteration for nonlinear equations in Markov chains, IMA J. Numer. Anal. 7 (1987) 355-369.
- [21] A.J. Lauh, Invariant Subspace Methods for the Numerical Solution of Riccati equations, Berlin: Springer-Verlag, 1991, 163-196.
- [22] X. Liu, H. Gao, On the positive definite solutions of the matrix equations  $X^s \pm A^T X^{-t} A = I_n$ , Linear Algebra Appl. 368 (2003) 83-97.
- [23] J. Meng, H.-M. Kim, The positive definite solution to a nonlinear matrix equation, Linear and Multilinear Algebra, 2015. <a href="http://dx.doi.org/10.1080/03081087.2015.107">http://dx.doi.org/10.1080/03081087.2015.107</a> 4650>.
- [24] Z.-Y. Peng, S.M. EL-Sayed, X.-L. Zhang, Iterative mthods for the extremal positive definite solution of the matrix equation  $X + A * X^{-\alpha}A = Q$ , J. Comput. Appl. Math. 200 (2007) 520-527.
- [25] G. Poole, T. Boullion, A survey on M-matrices, SIAM Rev. 16 (4) (1974) 419-427.
- [26] J.-H. Seo, H.-M. Kim, Convergence of pure and relaxed Newton methods for solving a matrix polynomial equation arising in stochastic models, Linear Algebra Appl. 440 (2014) 34-49.
- [27] X. Zhan, Computing the extremal positive definite solutions of a matrix equation, SIAM J. Sci, Comput. 17 (1996) 1167-1174.

Jie Meng

Department of Mathematics, Pusan National University, Busan 46241, South Korea

*E-mail address*: mengjiehw@163.com

HYUN-JUNG LEE

Department of Mathematics, Pusan National University, Busan 46241, South Korea

E-mail address: 22hyunny@naver.com

Hyun-Min Kim

Department of Mathematics, Pusan National University, Busan 46241, South Korea

E-mail address: hyunmin@pusan.ac.kr